342

=0

Subdivision of T.23 N., R24 E.

Chains. e x4 | o
Sept. 26: At 10h.9?m.a.m.,1.m,t., I set off 39963'N. on
the lat. arc; 1°06'S.'Qh'the dscl. arcj and determine a
meridian with the solar at the cor. of secs. 1,2,11,
and 12,
Thence I run _
17 N.0?06'E., on a true line bet. secs. l-and 2.; ascend.
13.00| Spur, 55 ft. above sec. cor., slopes W.; descend.
15.60| Draw, 25 f't. below spur,course W.; ascend.
25,50 Spur, 45 ft. above draw, glopss,W.; descend. -
'34.85|Draw,70 ft. below spur, S.W.; ascend. s
40.CO Set an iron post, 3 ft. long,l in. in d4ia., 6 ins. in
the grognd>to solid rock in a mound of gtone,“for % cor;
of secs. 1 and 2, with a brass cap, mkd.
2s2|s1
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end raise a mound of stone, 2 ft. base, 13 ft. high,
: W. of cor. ‘
59.50| Spur, 540>ft. above draw, slopes s.BOQW.; descend.
70.10 Draw,150'ft. below spur, course W.; ascend.
81;00 Spur, 35 ft. above draw,slopes W.; descend.
84.00|Dpraw, 15 ft. below spur, course W.; ascend.
87.31| Intersect the N. bdy. of Tp., N.89°50'W., 3.56 chs. from
the cor. of secs. 35 andHSG;—Which is a lava rock here-

tofore described. I build a cor. as follows:

Set an iron post, 3 ft. long, 2 ins. in dia., 16 ins. in

the ground to solid rock in a mound of stone, for clos~

~ing cor. of secs. 1 and 2, with a brass cap, mkd.
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and raise a mound of stone 2 ft. base, 1} ft. high,

S{ of cor. This cor, is 50 ft. above the draw. |, }

|Land, rough and mountainous.. .




